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 LSE-03  

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2022 
 

LIFE SCIENCE 

LSE-03 : GENETICS  

Time : 2 hours Maximum Marks : 50 

Note :  Question no. 1 is compulsory. Attempt any four 

questions from questions no. 2 to 7. 

 

1. (a) Fill in the blanks with the appropriate 

words given in the parentheses.  4 

(i) (Hyperuricemia/Haemophilia) 

__________ is a disease in which one 

of the factors required for normal 

clotting of blood is deficient.  

(ii) Sex limited traits are traits expressed 

in ___________ (one/both) sex/es.  
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(iii) Restriction enzymes are those 

enzymes which recognize specific 

base sequence in a/an ___________ 

(RNA/DNA) molecule.   

(iv) (Emerson and East/Francis Galton) 

__________ emphasised the 

importance of studying twins to 

obtain information on the  

nature-nurture problem.  

 (b) Read the following statements and write 

True (T) or False (F) against each.   2 

(i) Landsteiner divided human red blood 

cells into 4 groups designated as A, B, 

AB and O.   

(ii) Hardy-Weinberg Law states the 

frequencies of a pair of alleles to 

remain constant generation after 

generation, provided the population is 

small.  

(iii) American foulbrood disease is 

counteracted by the hygienic 

behaviour of queen bees.   

(iv) No green plant is capable of utilizing 

diatomic nitrogen (N2) directly from 

the atmosphere.     
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(c) Match the items given under Column A and 

Column B correctly and rewrite them : 4 

 Column A  Column B 

(i) Penetrant gene  (a) May alter the 

Hardy-Weinberg 

equilibrium  

(ii) Linkage (b) Alters genotype for 

purposes of high 

yield  

(iii) Migration  (c) Patterns of 

inheritance deviate 

from that of 

independent 

assortment   

(iv) Recombinant 

DNA technology  

(d) Always expressed  

2. Write short notes on any four of the  

following : 42
2

1
=10 

(a) Trihybrid crosses  

(b) High Frequency Recombinant Bacteria (HFr 

Bacteria)   

(c) Specific immune response  

(d) Blood groups and transfusion  

(e) Resistance to frost formation in tomatoes  

3. Explain the dosage compensation mechanism in 

humans with suitable examples. 10 
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4. With the help of well-labelled diagrams, describe 

the lytic and lysogenic cycles in bacteriophages.  10 

5. Describe the model for regulation of lac operon 

with the help of neat and labelled diagram.  10 

6. Explain the applications of genetic engineering 

in agriculture and medicine.  10 

7. Write short notes on any two of the following : 5+5=10 

(a) The XX – XY system of sex determination  

(b) DNA denaturation and renaturation    

(c) Teratogenesis   

(d) Genetics of human behaviour   
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 Eb.Eg.B©.-03  

{dkmZ ñZmVH$ (~r.Eg gr.) 
gÌm§V narjm 
OyZ,  2022 

 

Ord {dkmZ  

Eb.Eg.B©.-03 : AmZwd§{eH$s 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  àíZ g§. 1 A{Zdm ©̀ h¡ & àíZ g§. 2 go 7 _| go {H$Ýht Mma 
àíZm| Ho$ CÎma Xr{OE & 

1. (H$) H$moîR>H$m| _| {XE JE Cn ẁº$ eãXm| go [aº$ ñWmZm| H$s 

ny{V© H$s{OE & 4 

(i) (A{V`y[aH$  Aåbaº$Vm/hr_mo\$s{b`m) 

__________ EH$ amoJ h¡ {Og_| IyZ H$mo 

gm_mÝ`V`m O_mZo dmbo EH$ H$maH$ H$m 

A^md hmoVm h¡ &  

(ii) qbJ gr{_V {deofH$ _________ (EH$/XmoZm||) 

qbJ(Jm|) _| A{^ì`º$ hmoVo h¢ & 



LSE-03  6 

(iii) {Z`§ÌU E§µOmB_ do E§µOmB_ hmoVo h¢ Omo 

__________ (RNA/DNA) AUw _| EH$ 

{d{eîQ> ~og AZwH«$_ H$s nhMmZ H$aVo h¢ &  

(iv) ___________ (E_g©Z VWm B©ñQ>/\«$m§{gg 
JmëQ>Z) Zo àH¥${V-nmofU g_ñ`m na OmZH$mar 
àmßV H$aZo Ho$ {bE `_Om| Ho$ AÜ``Z Ho$ 
_hÎd na Omoa S>mbm Wm &   

(I) {ZåZ{b{IV H$WZm| H$mo n{‹T>E VWm àË`oH$ H$WZ gË` 

(g) h¡ `m AgË` (A), {b{IE &  2 

(i) b¢S>ñQ>mBZa Zo _mZd bmb aº$ H$mo{eH$mAm| 

H$mo Mma dJm] A, B, AB Am¡a O _| dJuH¥$V 

{H$`m Wm &   

(ii) hmS>u-dmBZ~J© {Z`_ Ho$ AZwgma g_{îQ> _| 

{H$gr `w½_{dH$ënr H$s Amd¥{Îm`m± nr‹T>r Xa 

nr‹T>r AMa ahVr h¢ ~eV} {H$ dh (g_{îQ>) 

N>moQ>r hmo &  

(iii) A_o[aH$s XÿfmUí^d amoJ H$mo amZr _Yw_pŠI`m| 

H$m ñdmñÏ`H$a ì`dhma à^mdhrZ ~Zm XoVm  

h¡ & 

(iv) H$moB© ^r ham nm¡Ym {Ûna_mUwH$ ZmBQ´>moOZ 

(N2) H$m dm`w_§S>b go grYm Cn`moJ Zht H$a 

gH$Vm &  
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(J) H$m°b_ H$ VWm H$m°b_ I Ho$ A§VJ©V Xr JB©  
{df`-dñVwAm| H$m ghr {_bmZ H$s{OE Ed§ CÝh| nwZ:  

{b{IE :    4 

 H$m°b_  H$  H$m°b_  I 

 (i) ~hþà^mdr (àdoer) 
OrZ 

(a) hmS>u-dmBZ~J© gmå`mdñWm 
H$mo ~Xb gH$Vm h¡  

 (ii) ghb½ZVm (b) OrZàê$n H$mo A{YH$ CnO 
Ho$ {bE ~XbVm h¡  

 (iii) àdmg (c) OrZm| Ho$ d§emJ{V à{Vê$n, 
ñdV§Ì Anì`yhZ go hQ>H$a 
hmoVo h¢  

 (iv) nwZ`m}JO DNA 

àm¡Úmo{JH$s  
(d) h_oem A{^ì`º$ hmoVo h¢ 

2. {ZåZ{b{IV _| go {H$Ýht Mma na g§{jßV {Q>ßn{U`m±  

{b{IE : 42
2

1
=10 

(H$) {Ìg§H$a g§H$aU   

(I) Cƒ ~ma§~maVm nwZ`m}JO OrdmUw (HFr OrdmUw)  

(J) {d{eîQ> à{Vajm AZw{H«$`m  

(K) é{Ya dJ© VWm aº$mYmZ  

(L>) Q>_mQ>am| _| VwfmaU go à{VamoYH$Vm  

3. _mZdm| _| _mÌm à{Vny{V© {H«$`m{d{Y H$mo Cn`wº$ CXmhaUm| 

g{hV g_PmBE &  10 
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4. gwZm_m§{H$V {MÌm| H$s ghm`Vm go, OrdmUw^mo{O`m| _| b`Z 

VWm b`OZH$ MH«$m| H$m dU©Z H$s{OE &  10 

5. ñdÀN> VWm Zm_m§{H$V {MÌ H$s ghm`Vm go b¡H$  Amonoam°Z 

Ho$ {d{Z`_Z _m°S>b H$m dU©Z H$s{OE &  10 

6. H¥${f Am¡a {M{H$Ëgm Ho$ joÌ _| AmZwd§{eH$s A{^`m§{ÌH$s Ho$ 

AZwà`moJm| H$s ì`m»`m H$s{OE &   10 

7. {ZåZ{b{IV _| go {H$Ýht Xmo na g§{jßV {Q>ßn{U`m±  

{b{IE : 5+5=10 

(H$) qbJ {ZYm©aU H$m XX – XY V§Ì   

(I) DNA {dH¥$VrH$aU VWm nwZ:àH¥$VrH$aU   

(J) {dê$nOZZ 

(K) _mZd ì`dhma H$s AmZwd§{eH$s  

 

 

 

 

 

    


